Engineering Mechanics – Statics CE 201-012 (02 & 03)

Notes: Lectures 37-40




The following notes summarize the key issues introduced in lectures 37-40. The issues stressed in these lectures are devoted to the analysis of problems involving static dry friction force on a dry surface.
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The friction force created on a rough surface is denoted Ff. The magnitude of this force depends on the conditions of equilibrium as shown in Fig. 1 below. 
Fig. 1: Values of Ff. 

· In static problems Ff can NOT be more than s N. The vale of Ff might be less than the limiting value.
The solution steps of problems involving static dry friction are:

a) Draw the FBDs.

b) Write the equations of equilibrium in the simplest form possible including Ff. If the motion is impending (i.e. the body is on the verge of motion) set Ff = Fs = s N.

c) Utilize relationships of geometry if available.

d) Identify the unknowns and solve the resulting equations for the unknowns. Here you must be careful with solution steps.

The following two examples will summarize the key steps indicated above.
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